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Algebra | Reference Page

Abbreviations for Geometric Formulas

Algebraic Formulas and Equations

A =area d = diameter r = radius
B = area of base  h = height

b = base

s = length of side
¢ = length V = volume

C=circumference P=perimeter w =width

Perimeter (P) and Circumference (C)

Any Polygon: P = sum of side lengths
Rectangle: P=2(+2w
Circle: C=2nr or nd
ra3.14 or 22
7

d=rt distance = rate x time

d= \/(Xz — )" +(y2 = y1)°

d = distance between two points

Distance Formula

Midpoint Formula:

I

X1+ X Y1+YZ]

2 2
Slope Formula: m=Y2"01
X2 —X
Standard Form of
a Linear Equation: Ax+By=C
Slope-Intercept
Equation: y=mx+b

Point-Slope Equation: y —y; = m(x — xq)

Pythagorean
Theorem: aZ+b%=c? b&
a
Quadratics
NI
For ax2+bx+c=0: x:_bi Zb —4ac
a

Discriminant: b2 —4dac

Measurement Conversions

Plane Figures Area (A)
. 1
Triangle: A=—bh
9 ﬁ >
Rectangle: A=lw
Circle: Q A=7r?
r~3.140r 22
7
Solid Figures Volume (V)
base
Right V =Bh
Rectangular or
Prism V =twh
Cube vV =>s3

LENGTH

CAPACITY

1 foot (ft) = 12 inches (in.) 1 cup (c) = 8 fluid ounces

1 yard (yd) = 3 feet
1 yard = 36 inches

1 mile = 1,760 yards
1 mile = 5,280 feet

(fl 02)
1 pint (pt) = 2 cups
1 quart (qt) = 2 pints
1 quart =4 cups
1 gallon (gal) = 4 quarts

WEIGHT

1 pound (lIb) = 16 ounces (0z)
1 ton (T) = 2,000 pounds

CONVERSION BETWEEN CUSTOMARY AND

METRIC MEASUREMENT

1yard =0.9144 m 1 quart=0.946 L
1 foot =0.3048 m 1ounce=28.35¢g
1inch = 2.54 cm 11b =0.45 kg
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Introduction to Algebra |

Content of tests

The testing program titled the Tennessee End of Course Assessment was established
to meet the Tennessee mandate for end of course assessments in Tennessee secondary
schools. These tests measure the Tennessee State Performance Indicators. Subject
areas covered by the end of course assessments include Mathematics, Language Arts,
History, and Science.

Test development

For the Tennessee End of Course Assessment, professional item writers experienced
in each of the content areas researched and wrote the items. Professional editors
and test developers carefully reviewed all items and test directions for content and
accuracy. To provide a large pool of items for final test selection, the test developers
created approximately 50% more items as were needed in the final editions of the
tests.

After items were field tested, student responses were analyzed. Professional content
editors and researchers carefully reviewed items, their data, and test directions for
content, suitability, and accuracy before including certain items and test directions in
operational tests.

L Page 6 | TNO9 J
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L TNO9

Test administration

Tennessee End of Course Assessments are given to students as they are completing
courses that are included in the program. Tests may be given midyear for block
schedules or at the end of the school year.

This test contains 65 multiple-choice questions.

You will have ample time to read and answer each of the questions. The Algebra I
test has been designed to be administered in one session and is not timed. The first
15 minutes are set aside to complete identifying data on the answer sheet.

A reference page, similar to the one located in this Practice Test, will be in the front
of the actual test. This page includes a list of formulas, equations, and tables for use
during testing.

Calculator use is optional. Sharing calculators during testing is not permitted.
The following types of calculators/devices may NOT be used during the test:
* pocket organizers
 electronic writing pads or input devices
* Some examples of prohibited calculators are:

O Casio models: CFX-9970G, Algebra FX 2.0

O Hewlett-Packard models: HP-40G, HP-49G

O Texas Instruments models: TI-89, TI-92, Voyage 200, TI-NSPIRE -
the CAS version (The non-CAS version of TI-NSPIRE is allowable.)

* calculators that can communicate (transfer data or information) wirelessly with
other student calculators/devices

 cell phones, PSPs, and/or iPods

Students may use any four-function, scientific, or graphing calculator that does
not have any of the above features. The use of units that have a Computer Algebra
System (CAS) is NOT allowed.

| Page7 |
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Tips for Taking the Test

Preparing for the test
¢ Take this Practice Test several times.

* Review the Tennessee End of Course Item Sampler for Algebra I located at
http://tennessee.gov/education/assessment/sec_samplers.shtml on the Tennessee
Department of Education Web site.

* Become familiar with the correct way to mark answers on the answer sheet.
There is a sample answer sheet in this Practice Test.

Before the test

* Get a good night’s sleep. To do your best, you need to be rested.

During the test

* Relax. It is normal to be somewhat nervous before the test. Try to relax and not
WOTrTYy.

* Listen. Listen to and read the test directions carefully. Ask for an explanation of
the directions if you do not understand them.

* Plan your time. Do not spend too much time on any one question. If a question
seems to take too long, skip it and return to it later. First answer all questions
that you are sure about.

* Think. If you are not sure how to answer a question, read it again and try
your best to answer the question. Rule out answer choices that you know are
incorrect and choose from those that remain.

L Page 8 | TNO9 J
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L TNO9

Answer Sheet for the Practice Test

10000
20000
3000
1000
50000
6 ®OOO
7®@®O0
s ®@OOO
I®G®OO
10 @000
1®®O00
20000
13OO®OO

14 OO0
150@00
16 ®OO0O
17 ®@®O0O
18 OO0
19 ®®O0O
20 ®OOO
21 ®®0O0O
2 GO0
23000
24 OO0
25 @O0
26 ®OOO

27 ®®OO
28O0
29 ®®OO®
30 OO0
31 OO
20000
3OO0
3OO0
35 OO0
36 @O0
37 ®OOO
330OOO
39 ®@®OO

10 OO0
41 ®E®OO
2 OO0
13OOO00
14 ®OOO
15 OO0
46 OO0
17®EOO
18 OOOO
9 OO®O0
5 OO
51 ®@®0O00
20000

5 ®®0O0
54 @O0
55 ®®0O0
56 ®OOO
57 @®O©0O
58 @O0
50 ®®0O0
60 @O0
61 ®® OO
2 @00
63 ®®OO
64 @O0
65 ®®O0

| Page9 |
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Directions for Taking the Practice Test

In this Practice Test, you will perform various mathematical operations. You may use
your calculator and Reference Page located in the front of this book to help you solve
the problems. You may write in the open spaces in this book to work the problem:s,
but remember to fill in the circle on your answer sheet that goes with the answer you
choose for each question. Fill in the circle completely and make your mark heavy
and dark. If you want to change an answer, erase the mark you made and make a new
mark.

You will do the items in this Practice Test by yourself. Remember to read all the
directions carefully. When you see the words Go On at the bottom of the page, go to
the next page. When you come to the word STOP, you have finished this test. When
you have finished, you may check your answers.

On your answer sheet, find Number 1. Mark your answers beginning with Number 1.
You may begin.
Stop when you have finished the test.

At the end of the Practice Test, make sure that all your marks are heavy and dark and
that you have completely erased any marks that you do not want.

Turn to Page 40 and locate the Answer Key. Check your answers and review those
items that you marked incorrectly.

L Page 10 | ™09 J
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1 Factor: x2 + 15x —54 @ 4 \What is the value of the expression when
x=4andy=-2?
A (x—9)(x+6) @
B (x+9)(x—6) 2
X 3
C (x—=3)(x+18) 2 + Xy
D (x+3)(x—18)
F -28
G -24
H -20
2 What are the coordinates of the midpoint ] —16
of a line segment with endpoints (—1, 3)
and (5, 7)?
F (25
G (32 5 Which set of numbers is ordered from
H (52 greatest to least?
J (6,4
13 9
A {— 3, 1.75, —}
8 \/_ 5
: 25 36 B J3 9 13
3 What is the value of ,[22 — [22? 3, =.1.75 —=
16 \25 8
A 7 C {9, 175, 13, \E}
an0 5
400
B D {9, 175, 3, E}
20 5 8
c 22
400
6 An8-ounce package of cheese costs
D $4.29. Which is closest to the cost per
20 pound?
F 3054
G 3215
H $6.29
J $8.58
GoOn)»

L TNO9 | Page 1 1 J



mikehanna
Sticky Note
Vocabulary- Factor
Skill- Factoring
	a=1       yes
Use product sum, two numbers that multiply to equal 54 and yet add to 15. Then read the story of the signs. The negative in front of "c" says that they are opposite signs and the positive in front of "b" says the bigger number is positive. 

mikehanna
Sticky Note
Just plug it in....Use your Calculator!


(Practice Test

Algebra I]

7 The scatterplot shows the number of
free throws Jerry made in six basketball

games.
Jerry’s Free Throws
12
3 10
©
S 3 °
w
2 6 .
< °
F 41 e o o
2
E 2
0

1 2 3 4 5 6 7
Game

For game seven, which number of free
throws that Jerry could make would be
considered an outlier?

A 3
B 4
Cc 8
D 12

| Page 12 |

8

(5m3 + 2m2 —m) + (m? + 4m —2) =

F
G
H
J

5m3 4 3m? —5m + 2
5m3 + 3m? +3m —2
5m3 + 2m? —5m — 2
5m3 +2m? 4+ 3m + 2

O

GoOn»p
)



mikehanna
Sticky Note
Like Terms is the key here. What goes together. Must have same variables and same powers to be added or subtracted.


[Algebra |

Practice Test]

9  Which expression is closest to
(9.06 x1075)(6.022 X 10%)?

L TNO9

A

B
C
D

1.51x10'®

1.51x 10" =

5.46 X 10'8
5.46 X 10'?

2 oy
10 Simplify X =x=6 for all values of x
2x> + x —6

for which the expression is defined.

F x4+ 2x @

G 3x2—12

H X —3
2x — 3
X —3

] 2x + 3

GoOn)»
| Page 13 |



mikehanna
Sticky Note
Use your calculator to multiply the constant and use the multiplication law of exponents to do the powers of 10.

mikehanna
Sticky Note
You must FACTOR first, then cancel out the common factors. What is left is the simplified form.


(Practice Test Algebra IJ

11 solve: 20x —18<50<36x —16 12 Nyesha earns $1,000 per month plus a
commission of 5% of the total dollar
A 1E <x< 3g amount of each sale she makes. Her total
5 monthly earnings, P, are represented by
5 17 the equation P = 1,000 + 0.05t, where
B 1=<x<—
6 18 t represents the total dollar amount of
her sales for the month. Which equation
C 13<x<32 will represent her total monthly earnings
5 5 in dollars if her commission increases an

3 17 additional 2%?
° 1§<X<E P =1,200 4 0.05t @
P =1,000 4 0.02t

P =1,200 + 0.07t
P =1,000 + 0.07t

—IOoOm

GoOn)»
L Page 14 | ™09 J



mikehanna
Sticky Note
Translation here. Make sure the decimal is properly converted. These are common sense problems, read it thoroughly and account for each word!


[Algebra |

Practice Test]

13 This graph represents a relation.

y
A
6
5
4
3
A \
< > X
-6 5 -4-3-2/40] 1 2 \N4 5 6
1
/ \
/|, \
3
4
6

L TNO9

<
<

Which set of ordered pairs is included in
this relation?

A {(-3-3),(03). (3.9
B {(0.-1). (22), (4-1)
C {(-5-6).(30).(5-3)

D {(-4-4)(-2-2),(4-3)

14 Which function represents the data
shown in this table?

n f(n)
1 4
2 11
3 18 @
4 25
5 32
F f(n)=3n+1
G f(n)=5n+3
H f(n)=6n-1
J f(n)=7n-3

GoOn)»
| Page 15 |



mikehanna
Sticky Note
Easy, look at the answers and the graph. Just match the ordered pairs up with the graph.....

mikehanna
Sticky Note
How many ways can you do this one.
1. put the equations in y = and ask you momma. Match the table to the equation.
2. Plug the x values in by hand and see which equation works.
3. Find the slope by calculating from table and your done. EACH answer has a diffent slope.
4. Find the correct y intercept from the table. EACH answer has a different y intercept.


[Practice Test Algebra I]

15 Which graph represents a relation that is not a function?

y @

y
4
7 7
6 /k < 6 L
5 5
4 4
3
2 2
1 1
x x
-7%6 -5 -4 -3 -2 -10 4 5 6 7 -7 6 -5 -4 -3-2-10 1 2 4 5 6 7
1 1
2 2
3 3
4 4
5 5
6 6
7 7
\ i
y y
7 7
6 6 A
5 5
4 4
3 3
2 2
1 1
x x
-7 6 5 -4 -3 -2 -1 2 3 45 6 7 -7 6 -5 -4-3-2-10 1 2 4 6 7
1 1
2 2
3 3
4 4
5 5
N > Y
7 7

GoOn»
| Page 16 | oo |



mikehanna
Sticky Note
Key word here is Function.
Do you know the definition of a function. For every x, there is only 1 unique y. 
APPLICATIONS:
	- graph- vertical line test
	- Mapping diagram - the Proper forking. 
	- Table/Ordered pairs- x cannot repeat with a different y value.
 proper forking


[Algebra | Practice TestJ
16 (x —k)(y —k)= 18 The diagram below shows the dimensions
F oy i @ for the top surface of a patio.
2

G xy+k 13 ft

H xy—xk—ky+k?2 [ X

J  xy+xk+ky —K? 9 ft

Js f
=
21 ft

17

=]

L TNO9

Simplify the expression below and state
all restrictions on the domain.

x2 —11x + 28
x2 —A4x —21
A X+4,x¢—7andx:¢3
X —3
B X+4,x¢—4andx:¢3
X —3
C X_4,X¢—3andxz7
X+ 3
D X_4,x¢—3andx:c4

X+ 3

What is the dimension, in feet (ft),
represented by x?

443
NG
413
a7

- IO m

GoOn)»
| Page 17 |



mikehanna
Sticky Note
Foil or Box techniques here. 

FOIL:  multiply the First terms. Multiply the Outer terms, Multiply the Inner terms, Multiply the Last terms. Then add like terms and your done.

mikehanna
Sticky Note
Factoring again. 

A=1, so use the product sum method for both the top and bottom trinomials.


(Practice Test Algebra IJ

19 Katie rented a moving truck. The total 20 Marcel has a data set for which the
rental cost included a one-time fee of mean is 33. Each value in the data set is
$40.00 and $0.75 for each mile driven. multiplied by 5. What is the mean for the
Which equation represents t, the total new data set?
cost in dollars of renting a truck that was
driven n miles? F > @

G 33

= H 132

A t=40+0.75n J 165
B =40+ 2P

C t=0.75+40n

D t=075+40
n

GoOn»
| Page 18 | mos |



mikehanna
Sticky Note
Translation, focus on the key math words(operations) and numbers. All must be accounted for!

mikehanna
Sticky Note
Define Mean.....

Mean is the average of a set....


[Algebra |

Practice Test]

21 Which scatterplot best represents a negative linear relationship between the variables x and y?

[

A

2 46 810121416

L TNO9

2 46 810121416

=

2 46 810121416

C

[ ]
2 4 6 810121416

D

GoOn)»
| Page 19 |



mikehanna
Sticky Note
Vocabulary is the concept here!
Scatterplot is not a key word here, but the words Negative and Linear Relationship are.


(Practice Test Algebra I]

22 Alawn can be mowed at an average rate 23 Which expression is equivalent to

of 44 square feet per minute. Which is 4
closest to this rate in square yards per (\/ZXZ) ?
second? @

A 2x*
F 0.01 B 4x*
G 008 C  4x8
J 031

GoOnp»

L Page 20 | TNO9 J



mikehanna
Sticky Note
Laws of Exponents problem with a little teaser in the radical sign. 

What law of exponents is this......................................................................................................................Power Law!


(Algebra | Practice Test]

2
24 The function A= md? shows the relationship between the area, A, of a circle and its

=

diameter, d. Which graph best represents this relationship?

A A
) A
/
/
/
/
d = d
F H
A A
>
//
d —T"| d
G J

Go On)»
L ™NOS | Page 21 J



mikehanna
Sticky Note
Big Clue found in the type of function modeled in the formula. Look at the DEGREE of the function. Still not sure, then graph the function with x replacing d of course and look at your CALCULATOR!


(Practice Test

Algebra IJ

25 This table shows the number of cans
placed in a collection bin during a food

drive.
Food Drive Results
Type of Food [Number of Cans
Vegetable 2,578
Fruit 1,359
Meat 1,240
Sauce 580

One can will be randomly selected from
the bin. Which is closest to the probability
that the can selected will contain fruit or

sauce?

A 0.10
B 024
C 034
D 0.66

| Page 22 |

26 Which function represents the linear
pattern shown in the table?

—IOm

=]

b's f(x)
1 -2
2 1
3 4
4 7
f(x)=3x—5
f(x)=2x—4
f(x)=x+3
f(x)=x+1

27 simplify: 2x%(3x3 —x2 + 5x)

A

B
C
D

6x” — x? 4 5x
6x'? — x? 4 5x
6x7 — 2x% +10x°
6x12 —2x8 4 10x*4

=

GoOn»p
)



mikehanna
Sticky Note
What do you have. A table and an equation. Hmmmmm. Soo many ways to do it.

By hand, MAYBE.
Calculator, Definately

Match the table with the equation...Where you ask, well ask YO  MOMMA!

Your level of understanding will determine your avenues you take when solving these problems. Remember, check your answer in the calculator. Better to be safe than sorry.

mikehanna
Sticky Note
Distributive property.

Still struggling.
Focus on the numbers only, not the variables and exponents. Multiply the 2 thru the parenthesis. This may eliminate some answers.

Or maybe focus on the Variables and powers only, it is the multiplication law of exponents, so the powers just change by adding them.



(Algebra | Practice Test]

28 Which equation best represents the graph of the line?

>

H U1 OO N 0 O

|
|
-]
|
~N
|
[+)]
|
(%, ]
|
=Y
|
w
|
N
1
=

123456789

o =N w

F yzﬂx—7

GoOn)»
L oo | Page 23 |



mikehanna
Sticky Note
You can focus on many things here.
1. Slope- of the line and match to equation.
2. Y intercept of the line and match to equation.
3. Graph each equation and match to graph given.



(Practice Test Algebra I]

29 Marta is buying a car from her sister for 30 The graph represents a function related
$12,294. After making an initial payment to a train’s movement over time.
of $1,200, she agrees to pay $258 per
month for n months. Which equation can

y
Marta use to determine the number of
e . . 12
months, n, it will take her to finish paying 11
for the car? 10 /
(=) ; /
8
A 1,200n + 258 =12,294 7
6 //
B 1200 + 2580 = 12,294 Z /
; /
1,200 + 258
c (20042%8) 500, 2
n
W/
1,200 — 258
- ( ):121294 0 12345-6789101112
n Time

Which function could this graph
represent?

F the speed of a train as it decreases its
rate of acceleration

G the speed of a train as it slows down
when approaching a station

H the distance of a train from a station it
has departed as it accelerates

J  the distance of a train from a station it
approaches at a constant speed

GoOn»
L Page 24 | ™09 J



mikehanna
Sticky Note
Translation again, take each math word and number into consideration. Be careful, they are talking specifically about paying off a car. You need to know what that means.


GoOn)»

| Page 25 |
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4567
’
4567

,
2

4
2

T M AN F N M S 10 O~ 0O N mMm s I

=]

—9-8-7-6-5-4-3-2-
.

—9-8-7-6-5-4-3-2-1
4

x—y<o0
3y —6x>0

< n
T M N - ﬁ‘)Jn%:JCUw]nnJ: y O N O INT MAN ™ ¥ N M <t U

-9-8-7-6-5-4-3-2-1
*
9-8-7-6-5-4-3-2-

31 Which graph best represents the solution to the system of linear inequalities?

[Algebra |

TNO9



mikehanna
Sticky Note
Hmmmm...A System Problem....

What form are the equations in....Standard, go from there using intercepts or change to slope intercept form and match.

Maybe focus on the inequality sign, it will tell you other parts of the story for example what type of line (solid or dashed) and which side is shaded.

You have to start with something and then eliminate the wrong answers....


(Practice Test

Algebra IJ

32 This table shows the number of tickets remaining in the first six rows of a theater for an

upcoming concert.

Concert Tickets Remaining

Row Number of
Tickets
A 3
B 2
C 4
D 4
E 6
F 5

On the day of the concert, the number of remaining tickets in Row A decreases by 1, while the
number of remaining tickets in Row F decreases by 3. What is the effect of these changes on

the mode of the data?

The mode decreases by 2.
The mode decreases by 1.
The mode increases by 2.

- IOm

The mode increases by 1.

| Page 26 |
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33 Which graph best represents the equation 5x — 3y = 12? @

y y
7 7
6 6
5 5
4 / \ a

/ \
3 / \ 3
2 / \ 2
1 1

1734567 76 543N -1

-
N
-
V]
~N

N\
.
o

o

5 W N =0
N\
/
N

(% -

A
M

A C
y y
7 7
of A L
.| / \.
4 4
& 3
/, AN
/ (RN
/ X \ X
-7 6 -5 -4 -3¥-2 -10 1 2 4 5 6 7 -7 -6 -5 -4 -3 -2 -10 2\3 4 5 6 7
1 1
2 2
. L\
7 7
B D

Go On)»
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mikehanna
Sticky Note
Well, Well, Well....Standard Form of a Linear equation. I am going to use the x and y intercepts and move on.

Dont know what that means, then you will have to change to slope intercept form and match the graphs up.


Still confused, well then just pick a point specific to an answer choice and see if it works. You can after all guess and check. 


(Practice Test

34 The average price of a movie ticket, over
a period of several years, is shown in the
graph below.

Average Price of a
Movie Ticket

S

7.00

6.00

5.00 °

4.00 28

3.00

Average Price
(dollars)

2.00

1.00

0 10 20 30 40
Number of Years since 1969

If the trend continues, what is the best
prediction of the average price of a
movie ticket in 2024?

F $4.20
G $6.90
H $8.85
J $10.95

| Page 28 |

35

36

Algebra I]
Which ordered pair, (x, y), represents
the solution for the system of equations?
2.5x + 7.5y =75
X+y=12
A Gy D
B (93
C (2,10
D (10 2
The graph shows the growth in
population for a city since 1940.
Population Growth @
~ 1,000
S
S 900
S 800 /
3 700
s 600
£ 500
5
- /
S 200 /
g 100 7
o

0 102030405060 70 80 90100
Years Since 1940

Which best describes the population for
the year 2000?

less than 100,000
about 180,000
about 900,000

more than 1,000,000

- IOm

GoOn»p
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mikehanna
Sticky Note
Line of best fit here is used to make a prediction. Good luck, draw the line as best as you can thru the midst of the data to help ensure an accurate prediction.

mikehanna
Sticky Note
System of equations here.

They want the solution.

Its good to go for Matrices.

Needs to be changed to y = mx + b to graph the intersection.

You could also plug the ordered pairs into the equations and see which works for both. 

mikehanna
Sticky Note
Just answer the question. Input/ Output question here.


[Algebra |

Practice TestJ

37 At the beginning of year 1, Katherine

L TNO9

deposits $100 in an account that pays 5%
interest compounded annually. She makes
no other deposits or withdrawals. The
amount in the account at the beginning
of each year is shown in the table.

Katherine’s Account

Amount in Account,
A(n)

1 100

2 100(1.05)
3 100(1.05)2
4 100(1.05)3

Year, n

Which function represents A(n), the
amount in Katherine's account at the
beginning of year n?

A A(n)=100

B A(n)=100(1.05)"""

C A(n)=100(1.05)"

D A(n)=100(1.05)"""

38 Which equation best represents the line
shown?

o)

A
6
5
4
; /
/
2
1 /
<% > X
-6 -5 -4 -3-2-10 2 3 4 5 6
1
/
2
3/
A/

o
—

F y=04x-5
G y=04x+2
H y=25x-5
J y=25x+2

39 Which number is a solution to
3x —19>5x —7or 6x — 27 >30 + 3x?

A -19
B -5
D 19

GoOn)»
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mikehanna
Sticky Note
Again, soo many ways.

Graph - Yes
Slope- Yes
Y intercept - Yes

Pick points and verify - Yes

mikehanna
Sticky Note
Just plug in the table values and verify. 

mikehanna
Sticky Note
Solve two inequality problems and cross over the solution sets.

Remember, Inequalities require you to change the sign, or shall I say flip the sign when dividing by a negative!!!!


(Practice Test Algebra IJ

40 The table shows the 2008 United States 41 Carlos and Amanda played a game.
first-class postage rate, d(w), for This table shows the results.
packages of maximum weight, w.

Game Results

Postage Rate for Packages in 2008
Result Frequency
Ma)_umu_m Postage Rate, Carlos wins 4
Weight in d(w)
Ounces, w Amanda wins 5
1 $1.17 Tie 3
2 $1.34
3 $1.51 What is the experimental probability
4 $1.68 that there will be a tie between Carlos
and Amanda?
5 $1.85
6 $2.02 1
A L
7 $2.19 4
8 $2.36 1
B
9 $2.53 3
10 $2.70
c >
12
The pattern in the table continues. Which p 3
value represents the postage rate of a 4
13-ounce package?
F $2.21
G 3287
H $321
] $4.21

GoOn»
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mikehanna
Sticky Note
Expand the table is a good choice....

Find the slope and then calculate.


[Algebra |

Practice TestJ

42 The total cost for renting a banquet hall

L TNO9

includes a one-time rental fee and a cost
per person attending the banquet. The
relationship between n, the number of
people attending the banquet, and ¢, the
total cost, is shown on the graph.

Banquet Hall Rental

750

600 ‘

450 .

300 +*

Total Cost (dollars)

150 :

0 10 20 30 40 50

Number of People
Attending Banquet

Which equation best represents the
relationship between n and t?

F t=-15n+75 @

G t=-15n—75
H t=150+75
J t=15n—75

43 1fx> —g, which expression is equivalent

‘o 2x2 +7x+5 )
J4x2 + 20x + 25

A X +1

B X +7

C —2x2—13x—20

D -2x2—-27x—30

44 \Which is closest to the area of the figure?

\\\ B //

= 1 square unit @

18 square units
23 square units
32 square units

- IO m

37 square units

GoOn)»
| Page 31 |



mikehanna
Sticky Note
Clues----

y intercept is a big one

Slope is the next big one....

Yeah Baby.

Easy stuff!

mikehanna
Sticky Note
8th grade problem. 

Need I say more.

C'mon man!


[Practice Test Algebra I]

45 Which graph best shows a positive linear relationship between the variables x and y?

y g

° ° °
® o
° °
o oo
» ° O 40 o o0
°
° ° °
X X
A C
y y
°
o ®
® .‘i
® o o °
® °
°
°
° .°°
° °
b o *
[ ] ~~
Y [ ]
X X
B D

GoOn»
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mikehanna
Sticky Note
Vocabulary Question Here!!!!!

Positive
Linear Relationship

do you know these words?


[Algebra |

Practice TestJ

46 This set of data includes the scores that

47

L TNO9

James earned on his last 6 math tests.
{90, 86, 75, 95, 100, 70}

If the lowest score is dropped, which
statement is true?

F The range will decrease by 10 points.
G The median score will increase by
2 points.
H The median score will increase by
5 points.
J  The mean score will decrease by
3.2 points.

The distance in miles, y, a bicyclist is from
home after riding x hours is represented
by the equation y = 8x + 7. What does
the slope represent in this situation?

A the number of hours it takes the bicyclist
to ride 15 miles

B the distance the bicyclist is from home
when x =0

C the steepness of the hill the bicyclist
is climbing
D the speed of the bicyclist

48 Ernest plans to paint a small rectangular

wall in his apartment as shown.

|3 feet—]

? 8 feet

Which is closest to the length, in feet,
of the diagonal strip that separates the
two colors?

F 5 feet
G  9feet
H 11 feet
J 25 feet

GoOn)»
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(Practice Test

Algebra IJ

49

50

Which is an equivalent form for all values
of x, y, and z for which the expression is
defined?

@ 3x6)229
12x3y423
x273
A 12
y
X376
B 1,2
y
4x273
C %
4x37°
D %

Which values of x make the equation
true?

X2+ x—12=0

F —6and2 @

G —4and3
H -3and4
J —2and 6

| Page 34 |

51

52

What is the value of the function
f(x) = x> —2x + 2 when x = —3?

A 13

B —1 @
C 2
D 17

A sequence is created from the function
k(n) = 3n + 1, where n represents the
position of the term in the sequence.
The sequence does not begin at 0. Which
list represents the first five terms of the
sequence?

F 56,7389

G 4,7,10,13,16 @
H 4,7,11,18,29

J 6,9,12,15,18

GoOn»p
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mikehanna
Sticky Note
Looks hard. Wait a minute...Do I, yes, just plug in the -3 into the equation and solve. Wait, cant I use my calculator at y =  and ASK YO MOMMA....

YES

mikehanna
Sticky Note
Laws of Exponents....

Do you know your laws?

Only 5 of em.

mikehanna
Sticky Note
Table question here. Plug in the values for x. It says the sequence does not begin at 0, then where must it begin?

How bout at 1.
Inputs 1,2,3,4,5

Match the outputs

mikehanna
Sticky Note
What the heck are they asking for....
Values of x, c'mon man. Oh yeah, they want the x intercepts, you mean roots right, no the zeros are what they want, I think they should be called the horzontal intercepts, no they want the solutions!!!!

Actually all those are proper ways to ask for the same thing. 

Can I use my calculator and identify them---YES

Can I use the quadratic formula and find them---YES

Can I factor and use the factors to solve for them----YES.

Can I just plug em in and see which works----YES

CALCULATOR is the EASIEST...JUST SAYIN'



(Algebra | Practice Test]

53 Which set represents the relation shown on the graph?

-]

=) R

)]

A {124,567
B {-4,-2123 475}
C {(-4.2).(-24).(14).(26).(35). (4.5 7)}

D {2 -4). (4 -2),(41.(62).(53),(14). (75}

Go On»
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mikehanna
Sticky Note
What does Relation mean?

Oh yeah, It means ordered pairs. So just match the ordered pairs with the graphed ordered pairs.

It is that easy!


(Practice Test Algebra IJ

54 Which transformation occurs to the graph 57 The distance from Earth to Pluto is
of y = x + 1 when the equation of the approximately 4.3 X 10'? meters. The
line changesto y = —x + 1? diameter of Earth is approximately

1.2 X 107 meters. Approximately how

@ F  Theline is reflected across the y-axis. many times the diameter of Earth is the
G Theline is reflected across the x-axis. distance from Earth to Pluto?
H The line shifts to the left 1 unit. A 028
J  The line shifts down 1 unit. '
B 360 o
C 28x10%
D 36x10°
55 Which compound inequality represents
6 — 3n| <277
A -27<6-3n227 58 What is the sum of k3 + 2k2 + 1 and
B -27<6-—-3n<27 3k2 — 4?
C 27>6 —3n<-27
B - F kK+5k%2—5
D 27<6 —3n<-27 @

G k3 +5k2 -3
H 4k3+2k?—5
J  4k3 + 2k -3
56 simplify (x2 — X —2)

x> —4

x?2 +x—2]
2 T2 “ffor

all values of x for which the expression

is defined. @
F x2—1

G x?+1

H x2+2x—1

J X2 —2x+1

GoOn»
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mikehanna
Sticky Note
Use your calculator and compare. Look at the picture, it is easiest that way!

mikehanna
Sticky Note
Scientific notation, hmm, laws of exponents here. Which law though? Either multiply or divide, you figure it out!

mikehanna
Sticky Note
Like terms here with a key word found in SUM.

mikehanna
Sticky Note
Factor, cancel out and then you are simplified.


[Algebra |

Practice TestJ

59 The graph shows the value of a necklace over many years.

Value
(in dollars)

7,000

Necklace Value

6,000

5,000

4,000

3,000

2,000
1,000

-

0
1880

.
o’
"'

1900 1920 1940 1960 1980 2000
Year

What is a reasonable estimate of the value of the necklace in 1982?

A

B
C
D

L TNO9

$1,970
$3,500
$4,000
$5,000

=

2020

GoOn)»
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mikehanna
Sticky Note
Can you read a table and estimate. C'mon dude, thats soo easy!


(Practice Test

Algebra IJ

60 Which number correctly completes this

equation?

12 square feet = ___square inches
F 144 @

G 288

H 1,728

J 6,912

61 Which statement best describes the
values of the numbers in this set?

® 25 [36 [a9
3'V5°Vs8
They are between 1 and 2.

They are between 2 and 3.
They are between 3 and 4.5.

oONnw»

They are between 4.5 and 8.

| Page 38 |

62 Gladys wants to buy a pair of pants
that cost $35 before a 20% discount.
She knows she can find the cost after
the discount, in dollars, by evaluating
35 — 35(0.20). She thinks she can get the
same cost by evaluating 35(1— 0.20).
What property did Gladys use to justify
that these two expressions represent the
same cost after the discount?

associative property
distributive property @
commutative property

- IOm

subtraction property of equality

GoOn»p
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mikehanna
Sticky Note
A conversion of units problem.....Let me calculate this. You do have a formula chart dont you!

mikehanna
Sticky Note
Do you know your properties by definition. This was the first vocabulary you were asked to memorize in 9th grade Algebra 1....

mikehanna
Sticky Note
IDK. 

I dont know how to simplify these things..

Cant you put the number in your calculator and hit enter. It may show you the value as a decimal.

JUST SAYING, the calculator is my friend....

Say it ----The calculator is my friend!


[Algebra |

Practice Test]

63 Which expression is equivalent to

3x,

5

>

w | >

&

w ‘

64 What is the length of a segment whose
endpoints are (3, —2) and (7, 6)?

L TNO9

- IO m

221
2429
43
4\5

65 Which expression is equivalent to
n? + 20n + 100?

A (n+10)(n+10)
B (n—10)(n—10) [
C (n+20)(n+5)
D (n—20)(n—5)

STOP@®
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mikehanna
Sticky Note
Can you say FACTOR again....

Or can you say FOIL the answers back into the form of the given equation....


YES


Answer Key

Item Correct
Number Answer
1 C
2 F
3 B
4 G
5 D
6 J
7 D
8 G
9 D
10 H
11 A
12 J
13 C
14 J
15 D
16 H
17 C
18 G
19 A
20 J
21 A
22 G

Item Correct
Number Answer
23 B
24 F
25 C
26 F
27 C
28 J
29 B
30 H
31 D
32 F
33 A
34 H
35 A
36 H
37 B
38 H
39 A
40 H
41 A
42 H
43 A
44 G

Item Correct
Number Answer
45 D
46 G
47 D
48 G
49 B
50 G
51 D
52 G
53 C
54 F
55 B
56 F
57 D
58 G
59 C
60 H
61 B
62 G
63 D
64 J
65 A

| Page 40 |
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Reporting Categories

Below you will find that each item has been linked to its corresponding Reporting Category.

These five Reporting Categories will be used to report scores from the actual test.

You can find the Reporting Categories and their Performance Indicators grouped together in
the Tennessee End of Course Item Sampler for Algebra | located on the Tennessee Department
of Education Web site at http:/tennessee.gov/education/assessment/sec_samplers.shtml.

Item

Reporting Category

3 - Algebra

4 — Geometry and Measurement

2 — Number and Operations

1 — Mathematical Processes

2 — Number and Operations

4 — Geometry and Measurement

5 — Data Analysis, Statistics, and Probability

3 - Algebra
2 — Number and Operations
3 - Algebra
3 - Algebra
1 — Mathematical Processes
3 - Algebra
1 — Mathematical Processes
3 - Algebra
3 - Algebra
3 - Algebra

4 — Geometry and Measurement

I\ RN TS RN RN RN N T NS\ TN
Olo|lvlalvu|lplw|n|S|lolC|® NV~ |WIN]|=

1 — Mathematical Processes

20 5 — Data Analysis, Statistics, and Probability
21 5 — Data Analysis, Statistics, and Probability
22 4 — Geometry and Measurement

L TNO9
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Item Reporting Category
23 2 — Number and Operations
24 1 — Mathematical Processes
25 5 — Data Analysis, Statistics, and Probability
26 3 - Algebra
27 1 — Mathematical Processes
28 3 - Algebra
29 1 — Mathematical Processes
30 3 - Algebra
31 3 - Algebra
32 5 — Data Analysis, Statistics, and Probability
33 3 - Algebra
34 5 — Data Analysis, Statistics, and Probability
35 3 - Algebra
36 3 - Algebra
37 3 - Algebra
38 3 - Algebra
39 3 - Algebra
40 1 — Mathematical Processes
41 5 — Data Analysis, Statistics, and Probability
42 1 — Mathematical Processes
43 2 — Number and Operations
44 4 — Geometry and Measurement
45 5 — Data Analysis, Statistics, and Probability
46 5 — Data Analysis, Statistics, and Probability
47 1 — Mathematical Processes
48 4 — Geometry and Measurement
49 3 - Algebra
50 3 - Algebra
51 3 - Algebra
52 1 — Mathematical Processes
53 3 - Algebra

| Page 42 |
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Item Reporting Category
54 1 — Mathematical Processes
55 3 - Algebra
56 3 - Algebra
57 2 — Number and Operations
58 3 - Algebra
59 5 — Data Analysis, Statistics, and Probability
60 4 — Geometry and Measurement
61 2 — Number and Operations
62 1 — Mathematical Processes
63 2 — Number and Operations
64 4 — Geometry and Measurement
65 3 - Algebra

L TNO9
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